=
S
w

El )
= 8
o o
5 o]
107k
o 1.0 N
IS E
x :
0.95— : > 3 1 : - 3
10 1 10 0, -1 10 1 10 0, -1
TPp. (PCA t% beamllnef) TPp. (PCA t% beamllnef)
T T
—=— DQM _CKF TTbase
—— DQM_CKF_TT_retrainOldFiles113
—— DQM_CKF_TT_retrainOldFiles125
= £
2 e
> >
0107 =X
5 S

1ot il v ol eind v WAL L
o [ o L
| RS A & 0 i i AR | RS AR & 0 i i AR
O'is(;'l 1 1:0 (:JZ 3 0'915(;'1 1 10 0? 3
TPp, (PCA tlo beamling'f) TPp, (PCA t]b beamling'f)
n=
2
D_)—
o
<]
1071

—1 ; I : 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


